# District School Board of Pasco County Bid Recommendation

Bid Title	Paper Products-Warehouse Stock	Number of Vendors Notified	204
Bid Number	13-011-SB	Number of Bids Distributed	54
Date Solicited	March 19, 2012	Number of Vendors Bidding	12
<b>Date Opened</b>	April 18, 2012	Number of Formal "No Bid" Responses	1
Date Board Presentation	June 5, 2012	Funding Source	General Funds
Total Savings	\$94,134	Grand Total of Bid	\$586,913.20

#### Recommendation:

Recommend acceptance of bids as noted on the attached tabulation sheet as lowest and best, responsive, responsible bids meeting written specifications.

#### **Term of Contract:**

This bid is to establish a firm fixed price for the annual purchase of paper products to be stocked in the central warehouse for use throughout the District.

## **Notations and Exceptions:**

In most cases, paper was bid in two groups per category recycled content and non-recycled. (i.e., Group I Drawing Paper – Non-Recycled and Group I-A Drawing paper – Recycled content). Any group denoted with an "A" after the group refers to a recycled content product. Bidders were advised only one group would be awarded based upon costs.

Offers from the vendors listed herein are the only offers received timely as of the specified opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

<u>PP18M Construction Paper Red/Orange-</u> Recommend rejection of all bids for red/orange construction paper as it has been discontinued by the manufacturer.

#### **Bids Evaluated By:**

Craig Coile, Supervisor, Information Services Department

Rebecca Musselman, Supervisor, Curriculum and Instruction Department

#### Bids Prepared By:

Stephanie Bunford, Buyer, Purchasing Department

#### Reviewed and Authorized By:

Kendra Goodman, CPPO, CPPB, Purchasing Agent

Date/Time: May 30, 2012 08:23:00

DATE O	TE OF OPENING: April 18, 2012 @ 2:30 p.m  D TITLE: Paper Products - Warehouse Stock			Office Supplies	AFP So	chool Supply		Bye-Mo'r, Inc.
		<u> </u>		umph Ct Suite 5		Box 43-0747	PO Box 107	
<b>BID:</b> # 13	•			ndo, FL 32805		i, FL 33243-0747	K	insbury, IN 46345
ITEM#		DESCRIPTION		,				1
GROUP :	: XEROGRA	PHIC PAPER						
PP-03	21,840	8-1/2" X 11" Xerographic	NB	NB	NB	NB	NB	NB
	Cases	Product Numer/Manufacturer		·	·			
PP-13	120	8-1/2 x 14" Xerographic, Legal	NB	NB	NB	NB	NB	NB
	Cases	Product Numer/Manufacturer						
Total "A	ll or None'' Bi	id Price - Group I		NB		NB		NB
Pallets Re	equired	İ						
	er Pallet / Exch	nange						
		-A: XEROGRAPHIC PAPER (Recycle)						
PP-03A	21,840	8-1/2" X 11" Xerographic	NB	NB	NB	NB	NB	NB
	Cases	Product Numer/Manufacturer					<u> </u>	
PP-13A	120	8-1/2 x 14" Xerographic, Legal	NB	NB	NB	NB	NB	NB
	Cases	Product Numer/Manufacturer	1					
Total "A	ll or None'' Bi	id Price - Group I		NB		NB		NB
Pallets Re	equired							
Charge po	er Pallet / Exch	nange						
Waste Pa	per Content							
GROUP :	II: CONSTRU	CTION PAPER						
PP-18A	2400	Orange	\$1.97	\$4,728.00	\$1.97	\$4,728.00	\$2.08	\$4,992.00
	Packages	Product Numer/Manufacturer	2212	Roselle	22	Roselle ColorBright		Tru-Ray
PP-18B	2400	Holiday Green	\$1.93	\$4,632.00	\$1.93	\$4,632.00	\$2.22	\$5,328.00
	Packages	Product Numer/Manufacturer	4112	Roselle	41	Roselle ColorBright		Tru-Ray
PP-18C	2400	Holiday Red	\$1.95	\$4,680.00	\$1.95	\$4,680.00	\$2.07	\$4,968.00
	Packages	Product Numer/Manufacturer	4312	Roselle	43	Roselle ColorBright		Tru-Ray
PP-18D	3000	White	\$1.46	\$4,380.00	\$1.47	\$4,410.00	\$1.78	\$5340.00/\$5380.00***
	Packages	Product Numer/Manufacturer	6312	Roselle	63	Roselle ColorBright		Tru-Ray
PP-18E	2400	Black	\$1.77	\$4,248.00	\$1.77	\$4,248.00	\$1.82	\$4,368.00
	Packages	Product Numer/Manufacturer	0612	Roselle	06	Roselle ColorBright		Tru-Ray
PP-18F	1200	Light Brown	\$1.76	\$2,112.00	\$1.75	\$2,100.00	\$1.92	\$2,304.00
	Packages	Product Numer/Manufacturer	4712	Roselle	13	Roselle ColorBright		Tru-Ray
PP-18G	3000	Yellow	\$1.87	\$5,610.00	\$1.87	\$5,610.00	\$2.05	\$6,150.00
	Packages	Product Numer/Manufacturer	2912	Roselle	29	Roselle ColorBright		Tru-Ray
PP-18H	2000	Dark Brown	\$2.06	\$4,120.00	\$2.08	\$4,160.00	\$2.18	\$4,360.00
	Packages	Product Numer/Manufacturer	4012	Roselle	40	Roselle ColorBright		Tru-Ray
PP-18I	1000	Purple	\$1.92	\$1,920.00	\$1.91	\$1,910.00	\$2.16	\$2,160.00
	Packages	Product Numer/Manufacturer	0812	Roselle	08	Roselle ColorBright		Tru-Ray
PP-18J	1200	Light Blue	\$1.80	\$2,160.00	\$1.79	\$2,148.00	\$1.95	\$2,340.00
	Packages	Product Numer/Manufacturer	1712	Roselle	17	Roselle ColorBright		Tru-Ray
PP-18K	1200	Light Green	\$1.86	\$2,232.00	\$1.85	\$2,220.00	\$2.18	\$2,616.00
	Packages	Product Numer/Manufacturer	4812	Roselle	48	Roselle ColorBright		Tru-Ray
PP-18L	1000	Pink	\$1.95	\$1,950.00	\$1.93	\$1,930.00	\$2.10	\$2,100.00
	Packages	Product Numer/Manufacturer	1612	Roselle	16	Roselle ColorBright		Tru-Ray
PP-18M	1000	Red/Orange **Discontinued item	\$1.45	\$1,450.00	\$1.53	\$1,530.00	\$0.00	\$0.00
	Packages	Product Numer/Manufacturer	6207	Pacon	58	Groudwood		

DATE O	F OPENING:	April 18, 2012 @ 2:30 p.m	Contract Paper	Group Inc.	M	lac Paper, Inc.	Office	e Max	Pyramid S	School Product
		ducts - Warehouse Stock	1531 Boettnle	_		0 Phillips Hwy.			6510 N. 54th Street	
<b>BID:</b> # 13	3-011-SB		Uniontown,	OH 44685	Jacks	onville, FL 32207			Tamp	a, FL 33610
ITEM#	QTY.	DESCRIPTION								
GROUP I	I: XEROGRAI	PHIC PAPER								
PP-03	21,840	8-1/2" X 11" Xerographic	\$24.57	\$536,608.80	\$26.25	\$573,300.00	\$25.74	\$562,161.60	NB	NB
	Cases	Product Numer/Manufacturer	212972	Fascopy	1099	Domtar	PIOX9001	Boise		
PP-13	120	8-1/2 x 14" Xerographic, Legal	\$36.07	\$4,328.40	\$39.00	\$4,680.00	\$34.83	\$4,179.60	NB	NB
	Cases	Product Numer/Manufacturer	212974	Fascopy	1100	Domtar	POIX9001	Boise		
Total "A	ll or None'' Bi	d Price - Group I		\$540,937.20		\$577,980.00		\$566,341.20		NB
Pallets Re	equired		549		22					
Charge pe	er Pallet / Exch	ange	0	0	0	0	0	0		
	GROUP I-	-A: XEROGRAPHIC PAPER (Recycle)								
PP-03A	21,840	8-1/2" X 11" Xerographic	NB	NB	NB	NB	\$34.01	\$742,778.40	NB	NB
	Cases	Product Numer/Manufacturer					PI055011	Boise		
PP-13A	120	8-1/2 x 14" Xerographic, Legal	NB	NB	NB	NB	\$45.55	\$5,466.00	NB	NB
	Cases	Product Numer/Manufacturer					PI055014	Boise		
Total "A	tal "All or None" Bid Price - Group I			NB		NB		\$748,244.40		NB
Pallets Re	1									
Charge pe	er Pallet / Exch	ange					0	0		
Waste Pa	per Content						50.00%			
		CTION PAPER								
PP-18A	2400	Orange	NB	NB	NB	NB	\$4.07	\$9,768.00	2.050	\$4,920.00
	Packages	Product Numer/Manufacturer					United Stationer		S	
PP-18B	2400	Holiday Green	NB	NB	NB	NB	\$4.99	\$11,976.00	2.175	\$5,220.00
	Packages	Product Numer/Manufacturer						United Stationer		
PP-18C	2400	Holiday Red	NB	NB	NB	NB	\$5.00	\$12,000.00	2.035	\$4,884.00
	Packages	Product Numer/Manufacturer						United Stationer	S	
PP-18D	3000	White	NB	NB	NB	NB	\$3.79	\$11,370.00	1.740	\$5,220.00
	Packages	Product Numer/Manufacturer						United Stationer	S	
PP-18E	2400	Black	NB	NB	NB	NB	\$3.91	\$9,384.00	1.780	\$4,272.00
	Packages	Product Numer/Manufacturer						United Stationer		
PP-18F	1200	Light Brown	NB	NB	NB	NB	\$4.50	\$5,400.00	1.880	\$2,256.00
	Packages	Product Numer/Manufacturer						United Stationer		
PP-18G	3000	Yellow	NB	NB	NB	NB	\$3.79	\$11,370.00	2.010	\$6,030.00
	Packages	Product Numer/Manufacturer						United Stationer		
PP-18H	2000	Dark Brown	NB	NB	NB	NB	\$2.71	\$5,420.00	2.130	\$4,260.00
	Packages	Product Numer/Manufacturer						United Stationer		
PP-18I	1000	Purple	NB	NB	NB	NB	\$4.81	\$4,810.00	2.120	\$2,120.00
	Packages	Product Numer/Manufacturer					**	United Stationer		
PP-18J	1200	Light Blue	NB	NB	NB	NB	\$2.71	\$3,252.00	1.920	\$2,304.00
DD 1017	Packages	Product Numer/Manufacturer	ND	ND.	ND	) ID	Ø4.01	United Stationers		#0.560.00
PP-18K	1200	Light Green	NB	NB	NB	NB	\$4.81	\$5,772.00	2.135	\$2,562.00
	Packages	Product Numer/Manufacturer					United Stationers		** *	
PP-18L	1000	Pink	NB	NB	NB	NB	\$4.81	\$4,810.00	2.065	\$2,065.00
DD 407.5	Packages	Product Numer/Manufacturer			\	,	United Stationers			
PP-18M	1000	Red/Orange **Discontinued item	NB	NB	NB	NB	NB NB		iscontinue	d

DATE O	<u>F OPENIN</u> G:	April 18, 2012 @ 2:30 p.m	Sch	ool Specialty, Inc.	Smith Office a	and Computer Supply	S & S Worldwide		
BID TIT	LE: Paper Pro	oducts - Warehouse Stock	3715 A	Northwoods Parkway	1009 Soi	uth 21st Avenue		75 Mill Street	
<b>BID:</b> # 13			No	rcross, GA 30071	Hollyw	rood, FL 33020	Cole	chester, CT 06415	
ITEM#	QTY.	DESCRIPTION							
GROUP I	: XEROGRA	PHIC PAPER							
PP-03	21,840	8-1/2" X 11" Xerographic	\$34.20	\$746,928.00	NB	NB	NB	NB	
	Cases	Product Numer/Manufacturer	851001HS	Enterprise					
PP-13	120	8-1/2 x 14" Xerographic, Legal	\$46.98	\$5,637.60	NB	NB	NB	NB	
	Cases	Product Numer/Manufacturer	854001HS	Enterprise					
Γotal ''Al	ll or None'' Bi	id Price - Group I		\$752,565.60		NB		NB	
Pallets Re	quired								
Charge pe	er Pallet / Exch	nange	0	0					
	GROUP I	-A: XEROGRAPHIC PAPER (Recycle)							
PP-03A	21,840	8-1/2" X 11" Xerographic	NB	NB	NB	NB	NB	NB	
	Cases	Product Numer/Manufacturer							
PP-13A	120	8-1/2 x 14" Xerographic, Legal	NB	NB	NB	NB	NB	NB	
	Cases	Product Numer/Manufacturer							
Total "A	ll or None'' Bi	id Price - Group I		NB		NB		NB	
Pallets Re	equired								
Charge pe	er Pallet / Exch	nange							
Waste Paj	per Content								
GROUP I		CTION PAPER							
PP-18A	2400	Orange	\$2.07	\$4,968.00	\$2.08	\$4,992.00	\$2.23	\$5,352.00	
	Packages	Product Numer/Manufacturer	054063	Pacon Tru-Ray		Roselle	PE475	Pacon Tru-Ray	
PP-18B	2400	Holiday Green	\$2.21	\$5,304.00	\$2.03	\$4,872.00	\$2.23	\$5,352.00	
	Packages	Product Numer/Manufacturer	216778	Pacon Tru-Ray		Roselle	PE479	Pacon Tru-Ray	
PP-18C	2400	Holiday Red	\$2.06	\$4,944.00	\$2.05	\$4,920.00	\$2.23	\$5,352.00	
	Packages	Product Numer/Manufacturer	216776	Pacon Tru-Ray		Roselle	PE502	Pacon Tru-Ray	
PP-18D	3000	White	\$1.77	\$5,310.00	\$1.55	\$4,650.00	\$2.23	\$6,690.00	
	Packages	Product Numer/Manufacturer	054141	Pacon Tru-Ray		Roselle	PE498	Pacon Tru-Ray	
PP-18E	2400	Black	\$1.81	\$4,344.00	\$1.90	\$4,560.00	\$2.23	\$5,352.00	
	Packages	Product Numer/Manufacturer	054150	Pacon Tru-Ray		Roselle	PE501	Pacon Tru-Ray	
PP-18F	1200	Light Brown	\$1.91	\$2,292.00	\$1.90	\$2,280.00	\$2.23	\$2,676.00	
	Packages	Product Numer/Manufacturer	054138	Pacon Tru-Ray		Roselle	BD4103	Pacon Tru-Ray	
PP-18G	3000	Yellow	\$2.04	\$6,120.00	\$2.00	\$6,000.00	\$2.23	\$6,690.00	
	Packages	Product Numer/Manufacturer	054069	Pacon Tru-Ray		Roselle	PE477	Pacon Tru-Ray	
PP-18H	2000	Dark Brown	\$2.04	\$4,080.00/\$4,340.00**	\$2.20	\$4,400.00	\$2.23	\$4,460.00	
	Packages	Product Numer/Manufacturer	054111	Pacon Tru-Ray		Roselle	PE490	Pacon Tru-Ray	
PP-18I	1000	Purple	\$2.15	\$2,150.00	\$2.00	\$2,000.00	\$2.23	\$2,230.00	
	Packages	Product Numer/Manufacturer	054414	Pacon Tru-Ray		Roselle	BD4103	Pacon Tru-Ray	
PP-18J	1200	Light Blue	\$1.95	\$2,340.00	\$1.90	\$2,280.00	\$2.23	\$2,676.00	
	Packages	Product Numer/Manufacturer	054108	Pacon Tru-Ray		Roselle	PE489	Pacon Tru-Ray	
PP-18K	1200	Light Green	\$2.17	\$2,604.00	\$1.95	\$2,340.00	\$2.23	\$2,676.00	
	Packages	Product Numer/Manufacturer	054105	Pacon Tru-Ray		Roselle	PE488	Pacon Tru-Ray	
PP-18L	1000	Pink	\$2.09	\$2,090.00	\$2.05	\$2,050.00	\$2.23	\$2,230.00	
	Packages	Product Numer/Manufacturer	054096	Pacon Tru-Ray		Roselle	PE485	Pacon Tru-Ray	
PP-18M	1000	Red/Orange **Discontinued item	NB	NB	\$1.30	\$1,300.00	NB	NB	

DATE O	F OPENING	: April 18, 2012 @ 2:30 p.m	Sta	andard Stationary	Unisource	Worldwide, Inc
BID TIT	LE: Paper Pr	oducts - Warehouse Stock	22:	51 Foster Avenue	4151 W	Voodcock Dr.
<b>BID:</b> # 13	-		W	heeling, IL 60090	Jacksony	ville, FL 32207
ITEM #	QTY.	DESCRIPTION				
GROUP	I: XEROGRA	PHIC PAPER				
PP-03	21.840	8-1/2" X 11" Xerographic	NB	NB	\$24.61	\$537,482.40
	Cases	Product Numer/Manufacturer			10298253	GP Econosource
PP-13	120	8-1/2 x 14" Xerographic, Legal	NB	NB	\$33.52	\$4,022.40
	Cases	Product Numer/Manufacturer			10302519	GP Econosource
Total "A		id Price - Group I		NB	10502019	\$541,504.80
Pallets Re		- Croup I		1,2	21	<b>40 11,00 1100</b>
	er Pallet / Excl	hange			0	0
Charge p		I-A: XEROGRAPHIC PAPER (Recycle)			0	U
PP-03A	21,840	8-1/2" X 11" Xerographic	NB	NB	\$27.65	\$603,876.00
11-03A	Cases	Product Numer/Manufacturer	ND	ND	10326070	GP Spectrum
PP-13A	120	8-1/2 x 14" Xerographic, Legal	NB	NB	\$37.67	\$4,520.40
11-13A	Cases	Product Numer/Manufacturer	ND	ND	10326078	GP Spectrum
Total "A		id Price - Group I		NB	10320078	\$608,396.40
Pallets Re		Ma I I ice - Group I		ND	21	\$000,370.40
	er Pallet / Excl	hanga			\$0.00	\$0.00
	per Content	nange			\$0.00	30.00%
		CTION PAPER				30.0070
PP-18A			\$2.06	\$4,944.00	\$0.00	\$0.00
FF-10A	Packages	Product Numer/Manufacturer	\$2.00	Riverside Tru-Ray	\$0.00	\$0.00
PP-18B	2400	Holiday Green	\$2.37	\$5,688.00	\$0.00	\$0.00
PP-10D	Packages	Product Numer/Manufacturer	\$2.37	Riverside Tru-Ray	\$0.00	\$0.00
PP-18C	2400	Holiday Red	\$2.05	\$4,920.00	\$0.00	\$0.00
PP-18C		Product Numer/Manufacturer	\$2.03		\$0.00	\$0.00
PP-18D	Packages 3000	White	¢1.76	Riverside Tru-Ray \$5,280.00	\$0.00	\$0.00
PP-18D			\$1.76		\$0.00	\$0.00
DD 10E	Packages	Product Numer/Manufacturer	¢1.00	Riverside Tru-Ray	¢0.00	¢0.00
PP-18E	2400	Black	\$1.80	\$4,320.00	\$0.00	\$0.00
PP-18F	Packages 1200	Product Numer/Manufacturer	¢1.00	Riverside Tru-Ray	¢0.00	£0.00
PP-18F		Light Brown	\$1.90	\$2,280.00	\$0.00	\$0.00
DD 10C	Packages	Product Numer/Manufacturer	#2.02	Riverside Tru-Ray	¢0.00	¢0.00
PP-18G	3000	Yellow Product Name of Manufacture	\$2.03	\$6,090.00	\$0.00	\$0.00
DD 1017	Packages	Product Numer/Manufacturer	Φ2.17	Riverside Tru-Ray	ф0.00	<b>#0.00</b>
PP-18H	2000	Dark Brown	\$2.15	\$4,300.00	\$0.00	\$0.00
DD 101	Packages	Product Numer/Manufacturer	do 10	Riverside Tru-Ray	Φ0.00	do 00
PP-18I	1000	Purple	\$2.13	\$2,130.00	\$0.00	\$0.00
DD 107	Packages	Product Numer/Manufacturer	01.01	Riverside Tru-Ray	<b>#0.00</b>	<b>#</b> 0.00
PP-18J	1200	Light Blue	\$1.94	\$2,328.00	\$0.00	\$0.00
DD 10**	Packages	Product Numer/Manufacturer	00.15	Riverside Tru-Ray	<b>#0.00</b>	<b>#</b> 0.00
PP-18K	1200	Light Green	\$2.15	\$2,580.00	\$0.00	\$0.00
	Packages	Product Numer/Manufacturer		Riverside Tru-Ray		
PP-18L	1000	Pink	\$2.08	\$2,080.00	\$0.00	\$0.00
	Packages	Product Numer/Manufacturer		Riverside Tru-Ray		
PP-18M	1000	Red/Orange **Discontinued item	NB	NB	\$0.00	\$0.00
	Packages	Product Numer/Manufacturer				

DATE OF	OPENING:	April 18, 2012 @ 2:30 p.m	Ace	Office Supplies	AFP S	chool Supply	Bye-Mo'r, Inc.		
BID TITI	E: Paper Pro	ducts - Warehouse Stock	631 Tr	iumph Ct Suite 5	DP.O.	Box 43-0747		PO Box 107	
<b>BID:</b> # 13-	-011-SB		Orla	ndo, FL 32805	South Miam	ni, FL 33243-0747	K	insbury, IN 46345	
ITEM#	QTY.	DESCRIPTION							
PP-18O	3000	Assorted	\$1.94	\$5,820.00	\$1.95	\$5,850.00	\$2.36	\$7,080.00	
	Packages	Product Numer/Manufacturer	6412	Roselle	24	Roselle ColorBright		Tru-Ray	
PP-18P	1000	Dark Brown	\$1.87	\$1,870.00	\$1.85	\$1,850.00	\$2.04	\$2,040.00	
	Packages	Product Numer/Manufacturer	2412	Roselle	47	Roselle ColorBright		Tru-Ray	
PP-18R	600	Tan	\$1.79	\$1,074.00	\$1.75	\$1,050.00	\$1.93	\$1,158.00	
	Packages	Product Numer/Manufacturer	4712	Roselle	52	Roselle ColorBright		Tru-Ray	
PP-18S	400	Slate	\$1.94	\$776.00	\$1.87	\$748.00	\$2.05	\$820.00	
	Packages	Product Numer/Manufacturer	5212	Roselle	44	Roselle ColorBright		Tru-Ray	
PP-18T	200	Gray	\$1.89	\$378.00	\$1.82	\$364.00	\$1.98	\$396.00	
	Packages	Product Numer/Manufacturer	4412	Roselle		Roselle ColorBright		Tru-Ray	
PP-18U	400	Magenta	\$2.14	\$856.00	\$2.08	\$832.00	\$2.25	\$900.00	
	Packages	Product Numer/Manufacturer	4512	Roselle		Roselle ColorBright		Tru-Ray	
Γotal "All	or None" Bid	Price - Group II							
Extension	Total/**Error	on Extension Total		\$54,996.00		\$55,000.00		\$59,420.00/\$52,450.00***	
Total "All	l or None'' Bi	d Price - Group II Minus PP-18M		\$53,546.00		\$53,470.00		\$59,420.00	
GROUP II	-A: CONSTR	UCTION PAPER (Recycle)						59,420.00	
PP-18A	2400	Orange	NB	NB	NB	NB	\$1.67	\$4,008.00	
	Packages	Product Numer/Manufacturer						Riverside	
PP-18B	2400	Holiday Green	NB	NB	NB	NB	\$1.64	\$3,936.00	
	Packages	Product Numer/Manufacturer						Riverside	
PP-18C	2400	Holiday Red	NB	NB	NB	NB	\$1.74	\$4,176.00	
	Packages	Product Numer/Manufacturer						Riverside	
PP-18D	3000	White	NB	NB	NB	NB	\$1.80	\$5,400.00	
	Packages	Product Numer/Manufacturer						Riverside	
PP-18E	2400	Black	NB	NB	NB	NB	\$1.78	\$4,272.00	
	Packages	Product Numer/Manufacturer						Riverside	
PP-18F	1200	Light Brown	NB	NB	NB	NB	\$1.67	\$2,004.00	
	Packages	Product Numer/Manufacturer						Riverside	
PP-18G	3000	Yellow	NB	NB	NB	NB	\$1.64	\$4,920.00	
	Packages	Product Numer/Manufacturer						Riverside	
PP-18H	2000	Dark Brown	NB	NB	NB	NB	\$1.69	\$3,380.00	
	Packages	Product Numer/Manufacturer						Riverside	
PP-18I	1000	Purple	NB	NB	NB	NB	\$1.64	\$1,640.00	
	Packages	Product Numer/Manufacturer						Riverside	
PP-18J	1200	Light Blue	NB	NB	NB	NB	\$1.61	\$1,932.00	
	Packages	Product Numer/Manufacturer						Riverside	
PP-18K	1200	Light Green	NB	NB	NB	NB	\$1.64	\$1,968.00	
	Packages	Product Numer/Manufacturer						Riverside	
PP-18L	1000	Pink	NB	NB	NB	NB	\$1.65	\$1,650.00	
	Packages	Product Numer/Manufacturer						Riverside	
PP-18M	1000	Red/Orange **Discontinued item	NB	NB	NB	NB	\$1.24	\$1,240.00	
	Packages	Product Numer/Manufacturer					6207	Pacon*	
PP-18O	3000	Assorted	NB	NB	NB	NB	\$2.08	\$6,240.00	
	Packages	Product Numer/Manufacturer						Riverside	

DATE OI	F OPENING:	April 18, 2012 @ 2:30 p.m	Contract Paper	Group Inc.	N	Iac Paper, Inc.	Offi	ice Max	Pyramid	School Products
BID TITI	LE: Paper Pro	ducts - Warehouse Stock	1531 Boettnler	Rd. St. E	330	00 Phillips Hwy.			6510 N	N. 54th Street
<b>BID:</b> # 13	-011-SB		Uniontown, O	H 44685	Jacks	onville, FL 32207			Tamp	a, FL 33610
ITEM#	QTY.	DESCRIPTION								
PP-18O	3000	Assorted	NB	NB	NB	NB	\$4.40	\$13,200.00	2.320	\$6,960.00
	Packages	Product Numer/Manufacturer						United Stationers	3	
PP-18P	1000	Dark Brown	NB	NB	NB	NB	\$5.09	\$5,090.00	2.000	\$2,000.00
	Packages	Product Numer/Manufacturer						United Stationers	3	
PP-18R	600	Tan	NB	NB	NB	NB	\$4.84	\$2,904.00	1.890	\$1,134.00
	Packages	Product Numer/Manufacturer						United Stationers	3	
PP-18S	400	Slate	NB	NB	NB	NB	\$4.84	\$1,936.00	2.015	\$806.00
	Packages	Product Numer/Manufacturer						United Stationers	3	
PP-18T	200	Gray	NB	NB	NB	NB	\$4.84	\$968.00	1.950	\$390.00
	Packages	Product Numer/Manufacturer						United Stationers	3	
PP-18U	400	Magenta	NB	NB	NB	NB	\$4.78	\$1,912.00	2.205	\$882.00
	Packages	Product Numer/Manufacturer						United Stationers	S	
		Price - Group II								
	xtension Total/**Error on Extension Total			NB		NB		\$121,342.00		\$58,285.00
		d Price - Group II Minus PP-18M						\$121,342.00		\$58,285.00
		UCTION PAPER (Recycle)								
PP-18A	2400	Orange	NB	NB	NB	NB	\$2.71	\$6,504.00	NB	NB
	Packages	Product Numer/Manufacturer						United Stationers	3	
PP-18B	2400	Holiday Green	NB	NB	NB	NB	\$3.28	\$7,872.00	NB	NB
	Packages	Product Numer/Manufacturer						United Stationers	S	
PP-18C	2400	Holiday Red	NB	NB	NB	NB	\$2.88	\$6,912.00	NB	NB
	Packages	Product Numer/Manufacturer						United Stationers	3	
PP-18D	3000	White	NB	NB	NB	NB	\$2.71	\$8,130.00	NB	NB
	Packages	Product Numer/Manufacturer						United Stationers	S	
PP-18E	2400	Black	NB	NB	NB	NB	\$2.71	\$6,504.00	NB	NB
	Packages	Product Numer/Manufacturer						United Stationers	S	
PP-18F	1200	Light Brown	NB	NB	NB	NB	\$4.50	\$5,400.00	NB	NB
	Packages	Product Numer/Manufacturer						United Stationers	3	
PP-18G	3000	Yellow	NB	NB	NB	NB	\$2.71	\$8,130.00	NB	NB
	Packages	Product Numer/Manufacturer						United Stationers	3	
PP-18H	2000	Dark Brown	NB	NB	NB	NB	\$2.71	\$5,420.00	NB	NB
	Packages	Product Numer/Manufacturer						United Stationers	3	
PP-18I	1000	Purple	NB	NB	NB	NB	\$4.81	\$4,810.00	NB	NB
	Packages	Product Numer/Manufacturer						United Stationers		
PP-18J	1200	Light Blue	NB	NB	NB	NB	\$2.71	\$3,252.00	NB	NB
	Packages	Product Numer/Manufacturer						United Stationers		
PP-18K	1200	Light Green	NB	NB	NB	NB	\$3.29	\$3,948.00	NB	NB
	Packages	Product Numer/Manufacturer						United Stationers		
PP-18L	1000	Pink	NB	NB	NB	NB	\$2.88	\$2.88 \$2,880.00		NB
	Packages	Product Numer/Manufacturer					United Stationers		1	
PP-18M	1000	Red/Orange **Discontinued item	NB	NB	NB	NB	NB	NB	NB	NB
	Packages	Product Numer/Manufacturer								
PP-18O	3000	Assorted	NB	NB	NB	NB	\$2.95	\$8,850.00	NB	NB
	Packages	Product Numer/Manufacturer				ĺ		United Stationers	3	

DATE OF	OPENING:	April 18, 2012 @ 2:30 p.m	Scho	ool Specialty, Inc.	Smith Office a	nd Computer Supply	S	& S Worldwide
BID TITI	E: Paper Pro	ducts - Warehouse Stock	3715 A	Northwoods Parkway	1009 Sou	th 21st Avenue		75 Mill Street
<b>BID:</b> # 13-	-011-SB		Nor	cross, GA 30071	Hollywo	ood, FL 33020	Col	chester, CT 06415
ITEM#	QTY.	DESCRIPTION						
PP-18O	3000	Assorted	\$2.35	\$7,050.00	\$2.05	\$6,150.00	\$2.37	\$7,110.00
	Packages	Product Numer/Manufacturer	054156	Pacon Tru-Ray		Roselle	PE503	Pacon Tru-Ray
PP-18P	1000	Dark Brown	\$2.03	\$2,030.00	\$2.00	\$2,000.00	\$2.23	\$2,230.00
	Packages	Product Numer/Manufacturer	054135	Pacon Tru-Ray		Roselle	PE496	Pacon Tru-Ray
PP-18R	600	Tan	\$1.92	\$1,152.00	\$1.85 \$1,110.00		\$2.23	\$1,338.00
	Packages	Product Numer/Manufacturer	054132	Pacon Tru-Ray	Roselle		BD4103	Pacon Tru-Ray
PP-18S	400	Slate	\$2.04	\$816.00	\$2.00	\$800.00	\$2.23	\$892.00
	Packages	Product Numer/Manufacturer	054147	Pacon Tru-Ray		Roselle	BD4208	Pacon Tru-Ray
PP-18T	200	Gray	\$1.97	\$394.00	\$1.90	\$380.00	\$2.23	\$446.00
	Packages	Product Numer/Manufacturer	054144	Pacon Tru-Ray		Roselle	BD4197	Pacon Tru-Ray
PP-18U	400	Magenta	\$2.24	\$896.00	\$2.20	\$880.00	\$2.23	\$892.00
	Packages	Product Numer/Manufacturer	054057	Pacon Tru-Ray		Roselle	BD4175	Pacon Tru-Ray
Total "All	or None" Bid	Price - Group II						
Extension	Total/**Error	on Extension Total		\$58,884.00/\$59.144.00**		\$57,964.00		\$64,644.00
Total "All	otal "All or None" Bid Price - Group II Minus PP-18M			\$58,884.00		\$56,664.00		\$64,644.00
GROUP II	ROUP II-A: CONSTRUCTION PAPER (Recycle)				\$4500 min	imum on Roselle		
PP-18A	2400	Orange	\$1.67	\$4,008.00	\$1.70	\$4,080.00	\$1.53	\$3,672.00
	Packages	Product Numer/Manufacturer	248655	Pacon Riverside	Pacon/River	Pacon/Riverside Groundwood		Pacon Riverside
PP-18B	2400	Holiday Green	\$1.57	\$3,768.00	\$1.70 \$4,080.00		\$1.50	\$3,600.00
	Packages	Product Numer/Manufacturer	077387	Pacon Riverside	Pacon/River	Pacon/Riverside Groundwood		Pacon Riverside
PP-18C	2400	Holiday Red	\$1.65	\$3,960.00	\$1.80	\$4,320.00	\$1.60	\$3,840.00
	Packages	Product Numer/Manufacturer	248660	Pacon Riverside	Pacon/River	rside Groundwood	RIV103443	Pacon Riverside
PP-18D	3000	White	\$1.81	\$5,430.00	\$1.90	\$5,700.00	\$1.68	\$5,040.00
	Packages	Product Numer/Manufacturer	248659	Pacon Riverside	Pacon/River	rside Groundwood	RIV103613	Pacon Riverside
PP-18E	2400	Black	\$1.65	\$3,960.00	\$1.85	\$4,440.00	\$1.60	\$3,840.00
	Packages	Product Numer/Manufacturer	248623	Pacon Riverside	Pacon/River	rside Groundwood	RIV103631	Pacon Riverside
PP-18F	1200	Light Brown	\$1.57	\$1,884.00	\$1.75	\$2,100.00	\$1.52	\$1,824.00
	Packages	Product Numer/Manufacturer	248626	Pacon Riverside	Pacon/River	rside Groundwood	RIV103636	Pacon Riverside
PP-18G	3000	Yellow	\$1.57	\$4,710.00	\$1.70	\$5,100.00	\$1.50	\$4,500.00
	Packages	Product Numer/Manufacturer	248618	Pacon Riverside	Pacon/River	rside Groundwood	RIV103616	Pacon Riverside
PP-18H	2000	Dark Brown	\$1.65	\$3,300.00	\$1.80	\$3,600.00	\$1.55	\$3,100.00
	Packages	Product Numer/Manufacturer	248627	Pacon Riverside	Pacon/River	rside Groundwood	RIV103625	Pacon Riverside
PP-18I	1000	Purple	\$1.57	\$1,570.00	\$1.70	\$1,700.00	\$1.50	\$1,500.00
	Packages	Product Numer/Manufacturer	248612	Pacon Riverside		rside Groundwood	RIV103627	Pacon Riverside
PP-18J	1200	Light Blue	\$1.48	\$1,776.00	\$1.70	\$2,040.00	\$1.56	\$1,872.00
	Packages	Product Numer/Manufacturer	248614	Pacon Riverside	Pacon/River	rside Groundwood	RIV103623	Pacon Riverside
PP-18K	1200	Light Green	\$1.57	\$1,884.00	\$1.70	\$2,040.00	\$1.49	\$1,788.00
	Packages	Product Numer/Manufacturer	248616	Pacon Riverside		rside Groundwood	RIV103619	Pacon Riverside
PP-18L	1000	Pink	\$1.48	\$1,480.00	\$1.75 \$1,750.00		\$1.51	\$1,510.00
	Packages	Product Numer/Manufacturer	248610	Pacon Riverside	Pacon/Riverside Groundwood		RIV103615	Pacon Riverside
PP-18M	1000	Red/Orange **Discontinued item	NB	NB	NB	NB	\$1.27	\$1,270.00
	Packages	Product Numer/Manufacturer					BD4195	Sunworks
PP-18O	3000	Assorted	\$1.98	\$5,940.00	\$2.70	\$8,100.00	\$1.95	\$5,850.00
	Packages	Product Numer/Manufacturer	er/Manufacturer 248654 Pacon Riverside Pacon/Riverside Groundwood		RIV103638	Pacon Riverside		

DATE O	F OPENING:	: April 18, 2012 @ 2:30 p.m	Sta	ndard Stationary	Unisource '	Worldwide, Inc
	•	oducts - Warehouse Stock	225	51 Foster Avenue		oodcock Dr.
<b>BID:</b> # 13	3-011-SB		Wh	neeling, IL 60090	Jacksonvi	lle, FL 32207
ITEM#	QTY.	DESCRIPTION				
PP-18O	3000	Assorted	\$2.33	\$6,990.00	\$0.00	\$0.00
	Packages	Product Numer/Manufacturer		Riverside Tru-Ray		
PP-18P	1000	Dark Brown	\$2.02	\$2,020.00	\$0.00	\$0.00
	Packages	Product Numer/Manufacturer		Riverside Tru-Ray		
PP-18R	600	Tan	\$1.91	\$1,146.00	\$0.00	\$0.00
	Packages	Product Numer/Manufacturer		Riverside Tru-Ray		
PP-18S	400	Slate	\$2.03	\$812.00	\$0.00	\$0.00
	Packages	Product Numer/Manufacturer		Riverside Tru-Ray		
PP-18T	200	Gray	\$1.96	\$392.00	\$0.00	\$0.00
	Packages	Product Numer/Manufacturer		Riverside Tru-Ray		
PP-18U	400	Magenta	\$2.22	\$888.00	\$0.00	\$0.00
	Packages	Product Numer/Manufacturer		Riverside Tru-Ray		
		l Price - Group II				
		r on Extension Total		\$59,188.00		\$0.00
		id Price - Group II Minus PP-18M		\$59,188.00		
		RUCTION PAPER (Recycle)				
PP-18A	2400	Orange	\$2.06	\$4,944.00	\$0.00	\$0.00
	Packages	Product Numer/Manufacturer		Riverside Tru-Ray		
PP-18B	2400	Holiday Green	\$2.19	\$5,256.00	\$0.00	\$0.00
	Packages Product Numer/Manufacturer			Riverside Tru-Ray		
PP-18C	2400	Holiday Red	\$2.05	\$4,920.00	\$0.00	\$0.00
	Packages	Product Numer/Manufacturer		Riverside Tru-Ray		
PP-18D	3000	White	\$1.76	\$5,280.00	\$0.00	\$0.00
	Packages	Product Numer/Manufacturer		Riverside Tru-Ray		
PP-18E	2400	Black	\$1.80	\$4,320.00	\$0.00	\$0.00
	Packages	Product Numer/Manufacturer		Riverside Tru-Ray		
PP-18F	1200	Light Brown	\$1.90	\$2,280.00	\$0.00	\$0.00
	Packages	Product Numer/Manufacturer		Riverside Tru-Ray		
PP-18G	3000	Yellow	NB	NB	\$0.00	\$0.00
	Packages	Product Numer/Manufacturer				
PP-18H	2000	Dark Brown	\$2.15	\$4,300.00	\$0.00	\$0.00
	Packages	Product Numer/Manufacturer		Riverside Tru-Ray		
PP-18I	1000	Purple	\$2.13	\$2,130.00	\$0.00	\$0.00
	Packages	Product Numer/Manufacturer		Riverside Tru-Ray		
PP-18J	1200	Light Blue	\$1.94	\$2,328.00	\$0.00	\$0.00
	Packages	Product Numer/Manufacturer		Riverside Tru-Ray		
PP-18K	1200	Light Green	\$2.15	\$2,580.00	\$0.00	\$0.00
	Packages	Product Numer/Manufacturer		Riverside Tru-Ray	***	**
PP-18L	1000	Pink	\$2.08	\$2,080.00	\$0.00	\$0.00
	Packages	Product Numer/Manufacturer		Riverside Tru-Ray		
PP-18M	1000	Red/Orange **Discontinued item	NB	NB	\$0.00	\$0.00
	Packages	Product Numer/Manufacturer				
PP-18O	3000	Assorted	\$2.33	\$6,990.00	\$0.00	\$0.00
	Packages Product Numer/Manufacturer			Riverside Tru-Ray		

DATE OI	F OPENING:	April 18, 2012 @ 2:30 p.m	Ace Of	fice Supplies	AFP Scho	ool Supply		Bye-Mo'r, Inc.	
BID TITI	E: Paper Pro	ducts - Warehouse Stock	631 Triu	mph Ct Suite 5	DP.O. Bo	x 43-0747		PO Box 107	
<b>BID:</b> # 13	-011-SB		Orland	lo, FL 32805	South Miami, FL 33243-0747		Kinsbury, IN 46345		
ITEM#	QTY.	DESCRIPTION							
PP-18P	1000	Dark Brown	NB	NB	NB	NB	\$1.74	\$1,740.00	
	Packages	Product Numer/Manufacturer						Riverside	
PP-18R	600	Tan	NB	NB	NB	NB	\$1.67	\$1,002.00	
	Packages	Product Numer/Manufacturer						Riverside	
PP-18S	400	Slate	NB	NB	NB	NB	\$1.64	\$656.00	
	Packages	Product Numer/Manufacturer						Riverside	
PP-18T	200	Gray	NB	NB	NB	NB	\$1.62	\$324.00	
	Packages	Product Numer/Manufacturer						Riverside	
PP-18U	400	Magenta	NB	NB	NB	NB	\$1.71	\$684.00/\$468.00***	
	Packages	Product Numer/Manufacturer						Riverside	
Total "All	Total "All or None" Bid Price - Group IIA								
Extension	Extension Total/**Error on Extension Total			NB		NB		\$51,172.00/\$50,956.00***	
Total "Al	Total "All or None" Bid Price - Group IIA Minus PP-18M			NB		NB		\$49,932.00	
Waste Pap	Waste Paper Content			<u> </u>					
		•							

DATE OF	OPENING:	April 18, 2012 @ 2:30 p.m	Contract Paper	Group Inc.	Ma	c Paper, Inc.	Offic	ce Max	Pyramid S	School Products
BID TITI	E: Paper Pro	ducts - Warehouse Stock	1531 Boettnle	r Rd. St. E	3300	Phillips Hwy.			6510 N	V. 54th Street
<b>BID:</b> # 13-	-011-SB		Uniontown, C	Uniontown, OH 44685		Jacksonville, FL 32207			Tamp	a, FL 33610
ITEM#	QTY.	DESCRIPTION								
PP-18P	1000	Dark Brown	NB	NB	NB	NB	\$3.29	\$3,290.00	NB	NB
	Packages	Product Numer/Manufacturer						United Stationer	rs	
PP-18R	600	Tan	NB	NB	NB	NB	\$4.84	\$2,904.00	NB	NB
	Packages	Product Numer/Manufacturer					United Stationers		rs	
PP-18S	400	Slate	NB	NB	NB	NB	\$3.49	\$1,396.00	NB	NB
	Packages	Product Numer/Manufacturer						United Stationer	tioners	
PP-18T	200	Gray	NB	NB	NB	NB	\$3.39	\$678.00	NB	NB
	Packages	Product Numer/Manufacturer						United Stationer	rs	
PP-18U	400	Magenta	NB	NB	NB	NB	\$4.78	\$1,912.00	NB	NB
	Packages	Product Numer/Manufacturer						United Stationer	rs	
Total "All	or None" Bid	Price - Group IIA								
Extension	Total/**Error	on Extension Total		NB		NB		\$88,792.00		NB
Total "All	l or None'' Bio	d Price - Group IIA Minus PP-18M		NB		NB		\$88,792.00		
Waste Pap	er Content									

DATE O	F OPENING:	April 18, 2012 @ 2:30 p.m	Schoo	ol Specialty, Inc.	Smith Office a	nd Computer Supply	S	S & S Worldwide
BID TIT	LE: Paper Pro	oducts - Warehouse Stock	3715 A N	Northwoods Parkway	1009 Sou	th 21st Avenue		75 Mill Street
<b>BID:</b> # 13	3-011-SB		Norc	cross, GA 30071	Hollyw	ood, FL 33020	Co	lchester, CT 06415
ITEM#	QTY.	DESCRIPTION						
PP-18P	1000	Dark Brown	\$1.68	\$1,680.00	\$1.80	\$1,800.00	\$1.60	\$1,600.00
	Packages	Product Numer/Manufacturer	248656	Pacon Riverside	Pacon/Rive	rside Groundwood	RIV103630	Pacon Riverside
PP-18R	600	Tan	\$1.57	\$942.00	\$1.75	\$1,050.00	\$1.52	\$912.00
	Packages	Product Numer/Manufacturer	248626	Pacon Riverside	Pacon/Rive	rside Groundwood	RIV1033636	Pacon Riverside
PP-18S	400	Slate	\$1.57	\$628.00	\$1.72	\$688.00	\$1.52	\$608.00
	Packages	Product Numer/Manufacturer	054762	Pacon Riverside	Pacon/Rive	rside Groundwood	RIV1033633	Pacon Riverside
PP-18T	200	Gray	\$1.48	\$296.00	\$1.70	\$340.00	\$1.48	\$296.00
	Packages	Product Numer/Manufacturer	248620	Pacon Riverside	Pacon/Rive	rside Groundwood	RIV103632	Pacon Riverside
PP-18U	400	Magenta	\$1.70	\$680.00	\$1.80	\$720.00	\$1.56	\$624.00
	Packages	Product Numer/Manufacturer	248624	Pacon Riverside	Pacon/Rive	rside Groundwood	RIV103628	Pacon Riverside
Total "Al	l or None" Bid	Price - Group IIA						
Extension	Total/**Error	on Extension Total		\$47,896.00		\$53,648.00		\$47,246.00/\$48,516.00**
Total "A	ll or None'' Bi	id Price - Group IIA Minus PP-18M		\$47,896.00		\$53,648.00		\$45,976.00
Waste Pa	per Content							100%

<b>DATE OF OPENING:</b> April 18, 2012 @ 2:30 p.m		Sta	Standard Stationary		Unisource Worldwide, Inc	
BID TITLE: Paper Products - Warehouse Stock BID: # 13-011-SB		225	2251 Foster Avenue		4151 Woodcock Dr.	
		Wheeling, IL 60090		Jacksonville, FL 32207		
QTY.	DESCRIPTION					
1000	Dark Brown	\$2.02	\$2,020.00	\$0.00	\$0.00	
Packages	Product Numer/Manufacturer		Riverside Tru-Ray			
600	Tan	\$1.91	\$1,146.00	\$0.00	\$0.00	
Packages	Product Numer/Manufacturer		Riverside Tru-Ray			
400	Slate	\$2.03	\$812.00	\$0.00	\$0.00	
Packages	Product Numer/Manufacturer		Riverside Tru-Ray			
200	Gray	\$1.96	\$392.00	\$0.00	\$0.00	
Packages	Product Numer/Manufacturer		Riverside Tru-Ray			
400	Magenta	\$2.22	\$888.00	\$0.00	\$0.00	
Packages	Product Numer/Manufacturer		Riverside Tru-Ray			
or None" Bid	Price - Group IIA					
Extension Total/**Error on Extension Total			52,666.00		\$0.00	
Total "All or None" Bid Price - Group IIA Minus PP-18M			52,666.00			
er Content					_	
	Paper Pro 011-SB QTY. 1000 Packages 600 Packages 400 Packages 200 Packages 400 Packages 400 Packages 400 Packages 400 Packages 400 Packages 600 Pack	E: Paper Products - Warehouse Stock  011-SB  QTY. DESCRIPTION  1000 Dark Brown  Packages Product Numer/Manufacturer  600 Tan  Packages Product Numer/Manufacturer  400 Slate  Packages Product Numer/Manufacturer  200 Gray  Packages Product Numer/Manufacturer  400 Magenta  Packages Product Numer/Manufacturer  400 Magenta  Packages Product Numer/Manufacturer  400 Magenta  Packages Product Numer/Manufacturer  or None" Bid Price - Group IIA  Total/**Error on Extension Total  or None" Bid Price - Group IIA Minus PP-18M	### E: Paper Products - Warehouse Stock    O11-SB	E: Paper Products - Warehouse Stock         2251 Foster Avenue           011-SB         Wheeling, IL 60090           QTY.         DESCRIPTION           1000         Dark Brown         \$2.02         \$2,020.00           Packages         Product Numer/Manufacturer         Riverside Tru-Ray           600         Tan         \$1.91         \$1,146.00           Packages         Product Numer/Manufacturer         Riverside Tru-Ray           400         Slate         \$2.03         \$812.00           Packages         Product Numer/Manufacturer         Riverside Tru-Ray           200         Gray         \$1.96         \$392.00           Packages         Product Numer/Manufacturer         Riverside Tru-Ray           400         Magenta         \$2.22         \$888.00           Packages         Product Numer/Manufacturer         Riverside Tru-Ray           or None" Bid Price - Group IIA         52,666.00           Total/**Error on Extension Total         52,666.00	### E: Paper Products - Warehouse Stock	